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A single stage amplifier has a voltage gain of 50. The collector load R, is 400 Q and
the input impedance is 1 KQ. If two such stages are cascaded through R - C coupling,
determine the: »

() effective load of the first stage;
(i)  gain of the first stage;
(iii))  overall gain.
(7 marks)

State three merits of electronic oscillators. (3 marks)

With the aid of a labelled diagram, describe the operation of a colpitts oscillator.
(8 marks)

A tank circuit of a colpitts oscillator has capacitors C, and C, of capacitance 0.001 pF
and 0.01 pF' respectively and inductance L of 15 #H. Determine the:

@) total capacitance;
(i)  operating frequency;
(iii)  feedback fraction.
(6 marks)

Draw a labelled block diagram of a three stage transistor amplifier. (3 marks)
State three merits of using a silicon controlled rectifier (SCR) as a switch. (3 marks)

With the aid of a circuit diagram and output waveform, describe the SCR half-wave
rectification. (6 marks)

An SCR half-wave rectifier circuit has a gate current of 1 mA. The forward breakdown
voltage of the SCR is 100 V. If an a.c supply voltage of peak value 200 V is applied,
determine the:

@) firing angle;
(i)  conducting angle;
(iii)  average output voltage.

(7 marks)
Explain each of the following as applied in operating amplifiers:
6)) input offset current;
(i)  output offset voltage.

(4 marks)
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